Math 130 Precalculus Spring 10 Midterm 3b

Name: SO{MHME

e You may use a graphing calculator.
e You may use a 3 X 5 index card of notes.
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(1) (10 points) Solve the following triangle: a = 4cm, b = 6¢cm, ¢ = 8cm.
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(2) (15 points) Find all solutions that are in [0, 27) of the equation
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(3) (10 points) Simplify tan(sin~*(z/3))
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(4) (15 points) Find all the angles in both triangles with the following properties:
a= 12em, b= llem, b =46°;
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(5) (10 points) Prove the following identity:
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(6) (15 points) Sketch one period of the graph y = 20cos (2 — Z). Label the
lowest points, the highest points and the x-intercepts of the graph with their
coordinates.




(7) (15 points) Consider the complex number z = —2 — 2i.
(a) Write z in trigonometric form as z = r(cos(¢) + 7 sin(¢)).
(b) Compute z? using the standard a -+ bi form.
(c) Compute 2* using the trigonometric form, e.g. by using De Moivre’s

theorem.
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